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TOURISM AND TRAWEL MANAGEMENT
( Vocatjonal )

( Conceptual Fram gwork of Tourism )

Full Mkas : 60
Time: 3 hours
The figures in the mqgin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
Tore AR RTrrE®y e fam -

(a) Any tourist ig a traveller, but all
travellers are not tourists.

S RO ), [ e 1@ /o 39
RIS |

( Write True or False )
(o7 1 wreg fordr )

(b) A tourist can stay in.a destination for
less than 24 hours.

T GWH 93X SR TG IRAAA <8
BT I A MRS FRI 0T |

( Write True or False )
(% 1 wreg forar )

A9/404A ( Turn Over)



(2)

(c) Define tourist.

*Rfog ALl a1

(@)

Define excursionist.

fra-orfoey e fam |

(e)

Define adventure tourism.

WP <o ke o |

1]

(9

2. Write in brief (any four) :

LS,

(@)

(b)

Define tourism supply.
(B el e faam o

Define visitor.

fofes e faan o

2x4=g
fort (R e wifdot) -

Differentiate between a tourist and a
traveller.

g ot WF qE TAR A& AL T
Sl

Write about different types of tourism.

- ot RiSw weRs Racw

A9/404A

( Continued )

(c)

(d

@

(3)

What do you mean by ‘push and pull’ -
factor? f - ‘
‘Push and pull’ I3 A & =12

What is motel?
Qs 2

What is paid holiday?
wINRE 5 B2

3. Write shorf answers on the following : 5x3=15

were fRaeares vy T fan -

(@

(b)

(c)

A9/404A

What do you understand by
international tourism? Give examples.

SR R e R w2 Swreaer o

Discuss, about the economic benefits of
tourism. S
oy WNT WS ASRERT [§m e
911

Discuss in brief about tourism resource.

o T~ RE T AT 97 |

"~ +{ Turn Over)




(4) | 3 (Sem-1) SOC

4. Answer any three of the following : 10x3=30 _ : 2018
ool R e fofRbR T faan
SOCIOLOGY
(@) Discuss the basic components of ( General )
tourism.
6T 24 oIS R e <64 | ( Introduction to Sociology )
: 7 Full Marks : 60
(b) E)lz;:: the approaches to study | Time : 3 hours
B SYENT E@GWW 11 The figures in the margin indicate full marks
| for the questions .
(c) Discuss about the environmental ‘ Answer either in English or in Assamese
impacts of tourism. ‘ ,
o ReR eome & R ‘Zi“lﬁ ¢, | 1. Choose the correct answer from the
A 344 | following : 1x7=7
‘ | o 2RPTRA Rl W SeIch! AR Bl
(d) Describe about the infrastructures (@ Who is the author of the book, Republic ?
' required for tourism development. R Republic S5 R SRERRE 2
o7 RerR AR acEA ST I | : D A
1 o (i) Aristotle
R85+
*xk | (ii) Plato
ceip’
(iii) Hegel
(e
(iv) Socrates
| BIHiR
A9—1000/404A 3 (Sem-1) TTM (Voc) ' A9/326 ( Turn Over)




A9/326

(2)

(b) Thg spreading of cultural traits from dne
group to another group is termed as

TP CAMEPTR e = «bl s o[
S <51 TR, AR AAFIT T AR

() Assimilation
Liisa il '
(i) Diffusion
e
" (iii) Integration |
e

(iv) None of the above
@oFq HI8 T

() Which among the following is an
example of a community?

@S SfRfT (PG BT TR TR ?
() Family
it
(i) Marriage
R
(iii) Village
e
(iv) Refugee camp
oo

(3)

(d) Which among the following is a feature
of an institution? ' ‘

wore SraR® (PO BT IR ¢ 2
(i) Permanent.and more Stéble
7% e oS A
(ii) Socially recognized
AR TS
(iij) It has rules
-
- (iv) All of the above
82 IR
(e) Socialization is entirély based on
AR “jefere FeT 31

(i) socially hierarchy
A RAUPR eoRe

(ii) social mobilization

AR SfSRETOR 8o

( Continued )

(iii) social interaction
AR SN eoRe

(iv) None of the above
@I OIS T

A9/326 ( Turn Over )



(4) (5)

0 ‘L?oking glass self’ concept is associated 2. Answer any four of the following in brief :
with ’ 2x4=8
Y TANE ARRT YRNDR S v oo R e SRR vt ey fian

() Freud’s theory (@ What are the sociological effects of
FEeA Pras /o French Revolution?
(i) Mead’s theory P! R Ty ersromg & 7
fres Fram/ g (b) What is status?
(iii) Cooley’s theory #if¥fS el R qum 2
T Frare /oy (c) Mention any two elements of culture.
(iv) Davis theory | TS R I 4o1 Seqwi Teey 4 |
cefon] Frams /g ‘ (d) Write the meaning of cultural diffusion.

(9)- “Sdciology is the science that deals with ‘ O R e e
social group.” Who said this? (e) Mention the importance of social norms
ey TR R R A W in society.

R 17 % TRECT (I SRTIRRE 7 S AN ARSI G S 741 |

(i) Max Weber
W @AH 3. Answer any three of the following (within 250

words each) : . 5x3=15

(i) Maclver and Page ware il R et FofGrR e R (afeeht xeo
CRYIRSR WIF 7% | Ree) : '

(i) Auguste Comte ‘ (@) “Sociology is a study of human
=g B ; : behaviour in group.” Briefly describe.

(iv) H. M. Johnson | PR AT WSRO R TEeR WO
. . G | TR 1 e Rewd o o

A9/326 - ( Continued ) | A9/326 ( Turn Over)
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(b)

(c)

(@)

(e)

(6)

Distinguish between institution and
association.

RE F T W NLTPTR Tfenear |

“Society is a abstract concept.” Discuss.
I G RTS 9T 1”7 S 40 |
Explain G. H. Mead’s theory of
socialization.

o TR fig-9q AR eo[® SoRCERI
P /ogCH! ST 41 | |

Express the meaning of assimilation.

TP O 2P 3T |

4. Answer any three of the following (within 500

words each) :

R R @ RRER Teg fan (af¥eht eoo g
fooso) : ‘

(a)

(b)

A9/326

Define Sociology. Can Sociology be a
science? Discuss. }

TEeEY W {1 weed
Rererre Rea 3 3°3 «1fR 2 s w111

What is Deviance? Discuss the causes
of deviance behaviour in society.

@8 e R 381 2 SIS AREBERE S5

FRFITR Ry seamwn 3 1

( Continued )

10x3=30

(c)

(d)

(e)

A9—1000/326

(7)

“Family is a. means of social control.”
Explain with suitable example.

“off e TR g @3 S @
[ 1" Tge TrrIpiR IR 4 |

Define social group:. Diséuss the role of
primary group in socialization of a child.
AfeR TR ke fran frey TRdSesTe
2N PR PR ToE ST 4 |

How is industrial society different from
an agrarian society? Discuss by giving
suitable examples.

T e FRE TSI [ (FEE R,
oy TrraerT A 9

%* % %

3 (Sem-1) SOC



3 (Sem-1) EDN

2018

EDUCATION
( General )

( Foundation of _Edhé&ional Tiie_o;'ies
and Principles ) '

Full Marks : 60

Time : 3 hours

" - The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed 1x7=7

ot fRamTEa ot PR e i

(a) “Preparation for complete living is
education.” Who said this?

“tofftopef QE-TPFR FRCT AR A
forset 1° SRS A PR 7

A9/321 ( Turn Over )



(b)

(2)

According to Mahatma Gandhi, “By
education I mean an all-round
drawing out of the best in child and
man-body, mind and spirit”.

(Write True or False )

TR, TR W, PP AR TR TR

PRt A, T S e ARe 02 99

(c)

- (d)

(e)

A9/321

e ;@wf@i fiE Rer
2IferaTes % <né” |

(om 7 Sram forar )

What ‘is the full form of IGNOU?

IGNOUS 1oyl Fetct 1 7

Write one function of school.

RwgrerE b1 7 forar |-

Mention one characteristic of non-

- formal education.

SoTORoIRoF P b1 LAy ey 4 |

( Continued )

1]

()

(3)

Truth, beauty and goodness are
__.. type of values.

(Fill in the blank)
' R
( 0 3R o 341 )

¢ ’ is a miniature society.

(Fill in the blank)
7 R 99 R T | |
(ﬁﬁtﬁz"mw)

2. Write very short answer of the following
questions : 2x4=8

o 2PPTRR SIS TR T N

(a) Mention two usabilities - of non-

A9/321

formal education.
Serelefes A 1B %"mfﬁﬁl R
11

( Turn Over )



(‘4) | - 5)

(b) Write two differences - between '(b): Vocational aim of education

subject-centred curriculum and - ) S i :

child-centric curriculum.  rER i@ﬂ Cot o

'i:BT ot o | | (c) Functional Literacy Programme
{c) Mention one dimension of education P T “l} o 5

process.

ﬂmmaﬁwmﬁ‘twﬂu (d) Free discipline.

T& STWH

(d) Mention two utilities of value-
- oriented education.

Answer any three from Question Nos. 4109 :
Ty P o1 Sercaifarer ey 1 1 . .

aﬁmﬁﬁeﬂ%wﬁimﬁﬁﬁﬁmﬁm:f

3. Write short notes on any three of the

following : 5x3=15 4. What is the relationship between

education and society? Explain the

w1 R @ iR & GOt fora ’ functlons of educatmn towards soc1ety
‘ 4+6=10

(@) Education and literacy el SF S e o 0 TR ofe

firsp o APl '7 P ST 70 301

A9/321 ( Continued ) A9/321 ( Turn Over)
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5.

A9/321

(16)

What is' vocational aim of “education?
Discuss its merits and demerits in the
present context. 4+3+3=10

PR R 7 B2 6 R ~Reafres
T TR S SFRIPR S| 4 |

What do you mean by formal ,edqution?
Explain the characteristics of formal
education. 5+5=10

i R 3P & g SRR e

PRI F9A|

Explain the concept of correlation of
studies. K Disguss. the. necessities . of
correlation in the field of teaching. 5+5=1q

TR ST mcn T e
CFaS DTN AT R 3991 311 |

Discuss the advantages and disadvantages
of reward and punishment in education.

S5+5=10

P R W R TR O
FoIReR R w1 41 |

( Continued )

9.

A9—65*/321

(7)

What is value-based education? Discuss
the role of teacher in imparting value
education. 5+5=10

T P 2 oy frm amee P
IR ST 47 |

* % %

3 (Sem-1) EDN



3 (Sem-1) SAN

' 2018
SANSKRIT

\ ( General )
Full Marks : 60.
Time : 3 hours

The figures in the margin indicate full marks
for the q.uestions

1. Translate into English or Assamese any one

Mantra from each Group : . 2x2=4
ACOF IR R GHE T T[AE o SEREI
SRm F

Group—A / 3—NI

(a) At GREHRAER %)
¥ @t wg i

(b) uﬂmm aree G|
T | T
Group—B / 3— Nl

(c) armar FifE Sxian Qe SR |
- adt o ot =

(d) T W A1 T SHRER
= g R |

A9/318 ( Turn Over)'




(2)

2. Answer the following questions as directed : 1x6-6

o PR SoR 2aRenes BT 4

(a) Who is the deity of ‘Agnisikta’ of the
Rgveda?

‘oA’ ‘ﬂﬁq@’am@m

(b) Who is known as 3HTR=?
it 3 I &= A2

" (c) Name one Brahmana of the Rgveda.
s 99 AR A

(d) The metre of ‘Agnistkta’ is .
| ( Fill in the blank )

P IR A |
( e 5 27 )

(¢) How many Mantras are there in the
‘Agnisiikta’ of the Rgveda?

G’y “STE’S (FEH! wg SR ?

(f)  Give the equivalent word of *3eTT.
‘T b LS == oy o

A9/318- ( Continued )|

(3)

3. Explaiﬁ any two of the following Mantras, taking
one from each Group, mentioning the name of the
Seer, the Metre and the Deity in each case :

\ 5x2=10
4R}, T T (FOR TN Srad R wAg Af 2
Rl GEIHIRE TF 051 T o1 TF [0 A

Group—A / 311

(a) frfte R I9er Tmafashy
TR QU

(b) N wfshy: gafm s
& R A

Group—B / ¥
(c) T SHARNR @m=dr aiar: |
gaamT sl

(d) . Tl g a: o dagt frgpa)
wferdedr fimm Al

4. Answer any one of the following' : 10
o) R @A 9Bt o] BT 39 ¢
(a) Discuss the characteristic features of Agni as
you have found in ‘Agnisiikta’.

“SPTE’ CoraT SA RPBPTR SICEe 4 |

A9/318 ( Turn Over )




A9/318

(4)

(b) Give an introduction to Rgveda Sarhhita.
‘g eI «ft e Ml «Ji 1 |

Write short notes on any two of the following :
: 2x2=4 |
woR R QI R 8T 5 Bt B

(a) ST

(b) I

(c) T

(d) &

Choo;e the right answer : 1-
% Soh! A Sfered :

According "to Annambhatta, FHs are
3/5/7types. :

TS MEFHTA3 [ 5 / 7 oW |

Explain any one of the following as given by
Annambhatta : 5

TTeEE A 4qed OO’ R I @B T 994 ¢
(a) . ThaEmia 3|

(b) TR
(c) ST ToN T

( Continued )

A9—2000/318

(5)

8. Answer any two of the following : 10%2=20

woi R It got 29 Te 34 :

(a) 'What do you mean by ‘3Wa’? What are its
divisions? Prepare a note on its divisions.

TR’ e R @ TR 2eR R B2 W
AR S*1F© i BIF 4TS 7 |

(b) Define ‘R’ according to Annarnbhatta and
discuss its divisions with examples.

RSy WO FRYY e fll We W|WR
APTTR THIZITR, SICATAT 41 |

(c) What do you mean by ‘§f3F4"? What are its
divisions? Prepare a note on its divisions.

A feicat R qon 2 TR R B R |WR
PRI @oF@ 5 GBI 2SI |

(d) Present a discussion on “fR.
‘Rea9’Y @IS «fp AT SISIRCHRT |

* Kk Kk

3 (Sem-1) SAN



3 (Sem-~-1) HIS

2018

HISTORY
" ( General )

( Early India up to 1200 AD )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questlons in one word or
one sentence each : ‘ 1x7=7

TS e erpTRY ST @bt = 31 @bt s o

(a) Which metal was not used in Indus
Valley Civilization?
P ToroR sTerere ¥ 419 IRT QA A= 2

(b) What was the main livelihood of the
people of Later Vedic Age?
QRfF PR AI[ORTES T dy- KRkRe &
1fe 2 .

(c) What are. the Tripitakas® -
‘e’ & 32

A9/324. . { Turn Over )




(2)

(d) Who was the founder of Sunga dynasty?
9g81 3T AR (I IfRE 2

() Who was the ‘greatest ruler of
Satavahana dynasty? .

ST Wﬁﬁ‘% oS TG T uﬂ%[ 9

() Who was Nagabhatta? .
oSG A A 2

{g) Who were the Cholas?
- COToPIa (I ST 2

2. Answer the following briefly : 2x4=8
v ﬁzmm s:ﬁm foa -
- (a) Who was Bimbisara?

RS e etz 2

(b):- Write a brief riote on the Fourth Buddhist
Council.

- w9 i ToRen Ry 1 o (Bt B |

('c')" Who was Mahakshatrapa Rudradaman?
T FETW (I A 2

(d) Write a brief note on the Rashtrakutas.
TR REc <51 B (BT ot :

A9/324 -

( Continued }

|

A9/324

(3)

3. Write' short notes on’ any three of the

following :-
@] R e %ﬁ?ﬁ 152{ Core Forat
(a) Ashoka

e

5%x3=15

(b) Gaﬁtamiputra Satakarni
oM@ e o
(c) Harshavé.i'dhané |

EIRET

(d) Contribution of Cholas to Indian art and
culture '

(e) Fa-Hien
71 Baw

. Answer any three of the followmg questions :

-10x3=30
ol 2R R e %ﬁi‘ﬁ Tey fran -
(@) Review the economic, political and social
life of the Aryans.. .

RO OATSE, AT Wi AW
laaq1R 7=oE SCEdA F9UA |

{ Turn Over )




(b)

(c)

(d)

(e)

A9—15*/324

4)

Describe the political history of Magadha .

from the middle of the 6th century BCE
up to the fall of the Nanda dynasty.
P W T TR /] T INR TSAT
TS AT BT IfM A

Discuss the causes for the decline of the
Mauryas.

TP ST FRPTR A 4T |

Who were the Pallavas? Whom do you
consider to be the most successful king
of the Pallavas?

FTERTRE (T TR ? P TEHE EPA
e & I o TR kT Rean 2

Review the Pala-Pratihara conflict for
supremacy in northern India.

e e 299 RERT IR Teg srRoe «F W%
HfOYFF TS F TERE weds R
ST 90

What - was - the impact of Mahmud
Ghazni’s invasions of India?

NI A O_S SFNeq & o gk 2

* * *

3 (Sem-1)HIS

A9/303

3 (Sem-1) ENG

2018

ENGLISH
( General )

Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

Students having English (Major) shall answer
Question Nos. 1, 2, 3 and 6 while other students
shall answer Question Nos. 1 to 5

1. What is ‘Swadeshi’ according to Gandhi?

What are its three branches? 10
Or

How did Buddha succeed in converting

Angulimala? 10

2. Narrate the circumstances under which

Orwell was compelled to shoot the elephant. 10
Or

Discuss how Lansina Nona remained
undeterred in her decision to stay in the
village alone in spite of the devastation by the
river. ' 10

( Turn Over )



(2)

3. Answer any two of the follbwing questions :

5x2=10

(a) Discuss, after Rohinton Mistry, the
overwhelming impact of the television
serial Ramayana on the psyche of the
contemporary Indian people.

(b) “Swadeshi is the only doctrine consistent
with the law of humanity and love.”
Explain in.brief.

(c) Give a brief character portrayal of Aunty
Roopwati. ,

(d) Give an account of Nona’s struggle
against the river in the story, The River.

4. Frame sentences to illustrate the meaning of |

the following phrases and idioms (any five) :

1x5=5

a storm in a teacup; by fits and starts;
cats and dogs; hold good; null and void;
salt of the earth; tooth and nail; bolt from
the blue; lion’s share.

5. Rewrite the following sentences correctly
(any five) :

(a) 1 completely disagree to pay women less
than men.

(b) There was a little progress so far.

A9/303

1x5=5

69

( Continued ) | A9—1**10*/303

(3)

(c) 1 have gone to Scotland but I have never
gone to Wales.

(d) She is neat but fairly slow.
(e} He has always been jealous for his sister.
() She has curly hairs.

(g) The committee recommended the best of
the two candidates.

(h) The news was broadcasted last evening.

[ For English (Major) students only ]

How does Nissim Ezekiel try to oppose
the ideas of V. S. Naipaul in his essay,

Naipaul’s India and Mine? 10
Oor
Write a note on Naipaul’s view of Mahatma
Gandhi. 10
* % K

3 (Sem-1) ENG



3 (Sem-1) PSY

2018

PSYCHOLOGY
( General )
( Introduction to Psychology )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions
1. State whether the following statements are
True or False : 1x7=7
fRafEiRe PR 719 W B 1 :

(a) Psychology is the science which aims to
give us better understanding and
control of behaviour of the organism as
a whole.

| TERER (e o ReF, R TREEn Sk
HHIR AFS & F O g R & |

(b) Cogﬁition is the lmowi.ng process.
TS G ST A |

(c) Experimental method is a scientific
method. o

O IS (R G FRT G |
A9/327 ( Turn Over )



(2) (3)
(d) Psychology is a social science. 3. Write short notes on any three of the
TARER 93 9 R | following : 5x3=15
(e) Clinical Psychologist reads an il R ! o -
individual’s palm and make prediction. (a) Neuron
(TS JReENc T WA S IR (Fes9)
TR
T FRE A | -
) . : i (b) Behaviour
() The relation of stimulus and response 2T
creates behaviour of individual. : -
SR o R T TR A T | () Tusion | ‘/
fa { B ATH
(9). Genes are.the biological bases of our J (d) Questionnaire method
behaviour. i PN *@fS
TR SR CSRE e Rl E, (e) Goals of psychology
2. Answer the following questlons in two or jl .
: } three lines each : 2x4=8 | ‘4 An th i fr.
iR o ) ! . Answer any. three essay-type ques ons from
© 2RPTR 2AfSch 1o 1 oGt *1kte Se fian - the following : 10x3=30
(@) What is an experiment? fRafeie e R @ oo 3z=i% for -
- R o ! i
Lk i (a) What is Psychology? Discuss its
(b) Name four parts of lobes. i': characteristics.
YT BB RN N o | ' aRem 2 seiRemy REFEE e
() What is introspection? i
s 2 J (b)) Describe the structure and functions of
(@ What do - } a neuron with the help of a diagram.
ou mean e i ’=
- yﬁ 0 Y pereeption? | foam e LR S W TR R
AT et g 2 o e fRat
A9/327 ( Continued) | A9/327 ( Turn Over)
I



(4) | 3 (Sem-1) ASM MIL

(c) What ‘do you mean by case study? 2018
Discuss the advantages and
disadvantages of case study method in | ASSAMESE
psychology. ' f Mod Indi L

. odern inaian Language
oS Rom P B T2 TEARERS T ( guage )
R ey Ry W R R Full Marks : 60
A I | .
Time : 3 hours

(d) What is sensation? Write the difference
between sensation and perception.

TR 7 I AE AT A ACSPR

The figures in the margin indicate full marks
for the questions

o 1 oY e fora yxa=9
(e) Draw a neat diagram of the human ear () TRURA ‘(O IS’ AFE IR9MOCo
and describe the process of hearing. IR 0 R 7 [ 2
ww«%a&ﬁmiﬁwﬁmmﬁ (4) “rER’ FRedE W @RE S
v . Remera S #Rez?
* 4k () “RR 3 FROMT wyR a1 ™ o

(9) AV’ IR BT @ ?
! (8) TR @ERFAR FRO-ALTI T B |
(5) THFAR SRR & (1 57 (FRe ?

(x) PR sr-Rere Sl «fRer's R e
@ERRIF FRE G IR 2

A9—1500/327 | 3 (Sem~1) PSY | A9/306 (Turn Over)




{1 oY s ot :

(?)

()
(%)

()

| -STHS vi  F (R e )

(¥)

()

(%)

A9/306

(2)
: §x8=v
IR [ I’ IRoS FERY TEFEY
st QAR 2 «ft e
JFRATS SHORT FILE T3 7 forr |

‘U T I eI IR @R =0
(S8 ™Ml FA G9F HCABAR A SraEd
01

SRR ORI FROPAR T SIS SNl
1R =1 1 511 1 R 6 2

¢xX9=>¢

‘gofe @A e wiftfRE
EREERICEIGH

RAToR IR AGER
9 o @23fd 17’

‘S Catet A (IR CSTET ATe |
afe vifice wst B5I coneirer 1’

‘iR Bt e Gt
o2 <R 43 FerR o[

o MR T A}
I (] O[S @1 1”7’ !

{ Continued ) .

()

()

(3)

Ry TPTEIS
FY INARS TRTTeR SF FEER
i 7= ‘R 7R’ 1 :

Off T B R
% NI (SHF |
TR S TR R
o1 o == 1

81 ﬁﬁﬁfﬁ'@mwmcﬁ @:Tc:ﬂﬁﬁﬁ[) Yox9=90

(F) "R A’ TR IR *RIFER (e ReR

(%)

()

()

A9/306

Oite FRA FEERIR TANF AN TOICR,
AT F41 |

TS FIF AN ? ‘(ORI FHAIS’ IIANSLBTS
TROE DFa] Ieaen [ 4 IRIE
oz, e #1401 - .

N Hore (e R sTaes SaniR
‘orafa’  FReRore R Tomrem IR,
A F97 |

RERIFAR TRTe IROOR ICHI  @AIGF
yReR R afSere txr, SCEm= 37 |

{ Turn Over)



(4)

() ‘o IR AR WP FROWES Ko I
STERPTER WAOR IR 3 a7 IR,
ST AT 947 |

(5) refee sRe-0@m adym Rewemz 7R R

‘R o’ IRee ok RereEr [ReE
fselers txrr, SrrgepR SCE™ 4 |

* % K

t
!
i

3 (Sem-1) PSC

2018

POLITICAL SCIENCE
( General )

( Political Theory—I )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :

1x7=7
wore AT w7 Teeor IR Sferean ¢

(a) “Political analysis deals with power, rule
and authority.” It is associated with

“qrataies Rersd wel, WPH oIF I A0
oS 17’ FYAIT 7197 Hfve Jfeww 2’4

(i) David Easton
cofen g

(i) Robert Dahl
RGO

(iij) Charles Merriam

B1f> IRA
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(2)

(b) The concept ‘Credo of Relevance’ was
developed by

‘oPAe RPE B’ MWE 4RIRE SeRA
Rt

(i) Karl Marx
F1ef sl

(i) Edward Shils

GG erg

(iii) David Easton

CofSn 38

(c) The right to hold public office is a/an
HIFIR R AR SRR 2 T
(i political right
IANSE HRFH

() economic right

AT SfRFR

(iii) legal right
IRs wfeR

@

(e)

(3)

“Greatest happiness of the greatest
number.” Who is the supporter of this

view?
‘o[t T ORI W1 @R Tolb @A
W#HW?
(i) Liberalists
TTRORMRE
(i) Marxists
TR
(iii) Utilitarianists
TR

“State is a exploitative machinery.” With
which perspective is this view associated?

‘B 2R GO CTRRFR T 1 @O BRI
TS 9% TOCH! TWTS ?

(i) Liberal perspective
TR iR

(ijj Marxian perspective
Wi et

(iii) Gandhian perspective

ST eS|

A9/323 ( Continued ) A9/323 ( Turn Over )
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(4)

() Legitimate power is called
[SER SR |
(i} authority
T
(@) ideology
Torpf
(i) legitimacy
Qe

(9) Which of the following principles is not
supported by social justice?

©oTS fia M @G! Al ey e

S

(i) Respect for minorities
RITAPFeR AfS 7

(#) Special privileges for a particular
class

Ror e wmea Rew Ry
(iii) Equal opportunity to all
SRR PR S R

A9/323

( Continued ) |

2. Write very short answers on any four of the
following : 2x4=8
wol R e BifER =i oy Teq forn
(a) Mention two modern approaches to the
study of Political Science.
S R SR o sy gesh Sy
90

(b) Mention two sources of authority.
T 01 BT BrEe 90|

() Mention two means of safeguarding
liberty.
TSl TFR o1 S Tea 791 1

(d) Write two methods of acquiring
citizenship.
AARPG ST 1 RS ol |

(e} Write two characteristics of justice.
R 1 G o |

3. Write short notes on any three of
the following : 5x3=18
wore FRaars R i FofbR o o (Bt forst :

(a) Significance of political theory
AT TG EF9
A9/323 ( Turn Over )
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(6) (7)

(b) Define the concept ‘ights’. Discuss
briefly the different kinds of rights.

(b) Features of behaviouralism

S SfFR’T e fmn | Rtw ol e R
“ (c) Economic power BYLF AL T4 |
i AT Tl . Or / 91
| What is justice? Discuss different
(d) Positive and negative liberty dimensions of justice.
g 9

(e} Social justice ::
e ™ | {c) Explain the relevance of the concept of
citizenship in a Democracy.

ATTFS ARFTT YRR APl AT 41 |

4. Answer the following : 10x3=30
TS TR Tad < - - ‘ Or /7 =531
Critically examine the Marxist perspec-
b (@) Define Political Science. Discuss the tive of Syt:ate persp
post-behavioural approach to the study
of Political Science. } BT A RSHBE CAAEre Row
|
TR Rerw @ fa A REm A
G SBIRICNES FESRICOT SACADAT T4 |
: ; * K k
Or / 9341 g’
Define power. Discuss various sources |
of power. |
FoR @ i wveR RRE SRR ]
GO 90 | i
A9/323 ( Continued ) | A9—60%/323 3 (Sem-1) PSC
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~ 3 (Sem-1) PHL

2018

PHILOSOPHY
( General )

( Logic)

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

wore fraris fotpiR Seg fa .
(a) What is the ideal of logic?
e e 192

(b) Who is said to be the father of
traditional logic?

oot S$Rwmmy P @ I |
ELl

A9/325 A ( Turn Over )



(c)

(d)

? (e)

10

A9/325

(2)

““The validity of an argument depends

on its form.” Is this statement correct?

‘IR vel TR WY elgs  Frde
FE I 93 AR wwmEH 2

The words validity and invalidity are
related to proposition/argument.

( Choose the correct answer )

(3T W RSl X B 5 EO
N o1 6 /4

(o Texhl AR Sferean )

Which constant is not a

logical
connective?

ST SRPR 51 ©P SierTER 7w 7

What will be the truth value of p Dg,
if p is true and q is false?

W p T WF g T W, wm po
Torge & 2’72

( Continued ) |

A9/325

(3)

(g) Which proposition " is called the
primitive proposition?

P AT I S o4 el (R 2 ?

. Answer the following questions very briefly

(any foun : | 2x4=8
fafiRe P o o Se3 i (R e
wif¥br) ¢

(a) Define an argument form.

e SR g |

(b) Define logic according to I. M. Copi.

I. M. Copi@ SRR SHREBAY I
foat | '

(c) Name two logicians who have
contributed  significantly to  the
development of symbolic logic.

AT SFREEE Rerre gveddf Wkl
G F& S I o |

(d) Give truth table for
statement.

FooTe SRey oy ool Wi 431 1

tautological

( Turn Over )



{e)

4y

(4)

What is deductive method?

fRormre omfs &2

Give an example of class membership
proposition and a relational
proposition.

CNTPTel [/ HE TTHGS I GOIT
Bz

3. Give short answer of the following questions

(any three) :

ﬁaﬁﬁ@mwﬁmﬁm(ﬁ cFIca Fofeibt)

(a)

(b)

A9/325

Write a short note on argument and
argument form.

e wre I wPR w9t vy Grm
foram

Write  five differences between

traditional logic and symbolic logic.

TS oReEm e A
SRR TS 061 <N B |

( Continued )

5x3=15

(5)

(c) What is truth function? Explain
conjunctive and  disjunctive truth
functions with truth table.

ool Foe 7 Torel SRR RN
WAEE T R[REAEE Torel Fo e JIA
911

(d) Write short note on the characteristics
of symbolic logic.
AT SHR@ (I T B Gl
o

(e) Write short note on propositional
variable.
TEAIT 5o ITTCT 5 Ol o |

4. What do you mean by the nature of logic?
Is logic a science or an art? Discuss. . 5+5=10

wHRwmmy apfe e & g sFREm Reem
¢ e, SAICEAD 41 |
Or/ 33T

Explain the brief history of the development
of symbolic logic. 10

AT SFR@ R 5 22 I 4 |
A9/325 ( Turn Over )



(6)

5. Construct truth table and determine the
validity or invalidity of the following

arguments : 5+5=10

R (R o) SIfFl e = tagel
w3yl 61 4 :

(a) p>Ogq
~p
So~q

(b) pvgq
~p

Or/#i3d1

Explain the strategy for determining the
validity or invalidity of an argument.

I (3t 31 SISl WeATR @FPRICHT [T 641 |

6. Give modern definition of proposition. In
this case, explain different kinds of simple

proposition with example. 2+8=10

[ A e w1 @ (FES R o9
Rfen TR T rR T 9 |

A9/325 ( Continued )

10

(7)

Or /7331

What is general proposition? What are the
different kinds of it? Explain each of them
with suitable example.
Mg o4 7 WA (A evrER & &2
ToRE SHRIPTR (IR ATIFCE IR 40 |

A9—25*/325

%* * %k

2+2+6=10
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3 (Sem-1) PSY

2018

PSYCHOLOGY
( General )

( Introduction to Psychology )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. State whether the following statements are
True or False : 1x7=7

ﬁwﬁﬁswwmwf&%@w

(a) Psychology is the science which aims to
give us better understanding and
control of behaviour of the organism as
a whole.

AR tsci@ﬁwﬁ, R R SR
HIHIR 2FS T HF ©F T Raey v m

(bp) Cognition is the knowing process.
TRETO] G R 2T |

(c) Experimental method is a scientific:
method. o

Wmm«mwﬁn
A9/327 | ( Turn Over )



(2) j | (3)

(d) Psychology is a social science. 3. Write short notes on any three of the

TARER & T e | following : 5x3=15
(e) Clinical Psychologist reads an ' e “/ﬁ e Fofera o (Bret foret -
individual’s palm and make prediction. (@) Neuron
e TeReRia IR e S IR TR ()
iR IR #ICT | )
: ' ‘ (b) Behaviour
() The relation of stimulus and response —
creates behaviour of individual. .
TR e Af SRR T Ife SR 9T (c) Tlusion
el B HIF -
(d) Genes are the biological bases of our (d) Questionnaire method
behaviour. . SRR RS
SIFPIR I CERE W63 ¥ | (e) Goals of psychology
AR 7%
2. Answer the following questions in two or
three lines each : 2x4=8 A o
AR . : . 4. Answer any. three essay-type questions from
2R 2! B 1 e TR e foat - the following : ‘ 10x3=30
D (@) What is an experiment? fRafiRe epcars R e fofbr 3= fors -
: R R 7 (a) What is Psychology? Discuss ' its
(b) Name four parts of lobes. ‘ charagteﬁstics. .
S BIRGT SR AN B | TREm 7 TeIRERI IRBPER S
' |
(c) What is introspection?
SR 6 9 ' (b) Describe the structure and functions of
’ ‘ - a neuron with the help of a diagram.
(d) What do you mean by perception? e =R TR 5 T W RN
dow e gmr < e | .

A9/327 , . ( Continued 1 A9/327 ( Turn Over )




) 3 (Sem-1) ALT ENG

(c) What do you mean by case study? | - 2018
Discuss the advantages and
disadvantages of tud thod i
psychologf ERRPHETY. TEtioc, x ALTERNATIVE ENGLISH
IE R Frem & @ TEfems afe Full Marks : 60
R =i JRerrz wF SFRerEz Raw Mgl
s Time : 3 hours

The ﬁgures' in the margin indicate full marks

(d) What is sensation? Write the difference for the questions

between: sensation and perception.

T 2 FAgawe s eermd IEd ATSTTR 1. Answer the following questions as directed
ferm 1 (any seven) : 1x7=7
; \ (a) “O, none, unless this miracle have
(e) Draw a neat diagram of the human ear might, / That in my love' may still
and describe the process of hearing. shine bright.”
@ e @ft B =R S IR T = ( Fill in the blank )
A=hoq Fefa fiaa | '

(b) “Will no one tell me what she sings?”

Who is the singer referred to here?
* % %

(c) “Drink deep, or taste not the Pierian
p " spring.” What does Pope mean by
; ‘Pierian spring’? |

(d) Who, according to Keats, is ‘nature’s
patient, sleepless Eremite’?

(e) “] listened in mine agony—
It was the silence made me groan !”

Whose ‘silence’ makes the speaker

suffer in the poem, A Year’s Spinning?
A9—1500/327 3 (Sem-1) PSy
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A9/304

- (2)

( “We will return no more” Who is
the speaker of this line in Tennyson’s
The Lotos-Eaters?

(9) “Praise him.” Whom does Hopkins refer
to by the pronoun ‘him’ in the poem,
Pied Beauty?

(h) What makes the speaker of the poem,
Piano weep to belong to his childhood
days? .

() “What is this face, less clear and
Clearer...” Whose face does the old man
in T. S. Eliot’s poem refer to here?

. Answer any four of the following questions :
2x4=8
(a) Mention two aspects of the city of

London in the morning which attract
Wordsworth the most.

(b) Give a brief idea of the ‘terrible division’
described by Keats in his poem,
A Draught of Sunshine.

(c) What sort of duties and respons1b111t1es
was Telemachus entrusted with - by

Ulysses?

(d) “... birds build—but not I build; no, but
strain” What does Hopkins mean by this
statement?

( Continued )

3.

\9/304

(3)

‘fe) How does Lawrence describe ‘the old’

Sunday evenings at home’?

() Mention two images which make the old.
man in Marina feel that he has almost
reached the island.

Explain, with reference to the context, any
three of the following : 5x3=15

(@) O, how shall summer’s honey
: breath hold out

-Against the wrecld’ul siege of
battering days,

(b) No nightingale did ever chaunt
More welcome notes to weary bands
« Of travellers in some shady haunt,
Among Arabian sands : :

(c) Season of mists and mellow fruitfulness,
Close bosom-friend of the maturing sun;
Conspiring with him how to load and bless

~ With fruit the vines that round '
the thatch-eaves run;

(d) All things counter, original, spare, strange;
Whatever is fickle, freckled
(who knows how?)
With swift, slow; sweet, sour; adazzle, dim;

{ Turn Over )



(4)

4. Answer any three of the following questions :

(a)

(b)

()

(d)

(e)

A9—10*/304

. Learning?

.damaging impact of urbanization on

" Describe Heaney’s reactions to the fate

10x3=3

How does Pope emphasize the
importance of humility in the pursuit of
knowledge in his poem, A Little

How does Wordsworth describe the

nature in his poem, Upon Westminster
Bridge?

How does Elizabeth Barrett Browning

bring to light the plight of women in her
contemporary society through her
poem, A Year’s Spinning?

How does the ‘choric song’ in The Lotos-
Eaters give an expression to the
mariners’ changed perspective on life?

of the Tollund man as a sacrificial
victim.
Write a critical appreciation of any one
of the following poems :
(i Sonnet No. 130

(i) Remembrance

(iij) Marina

* ok %

3 (Sem-1) ALT Ry

3 (Sem~1) HIN MIL
2018

HINDI
( Modern Indian Language )

( Hindi Kavya-Dhara )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
1. qof o= & sw A O 1x7=7
(%) qEm@ f I8 Ffa w1 W 70 {7

(@) = wfte 6t wo swfear f ks wma
F waIE w BT q?

(M) ‘Fomge # dar sl = w9 w= 37

(7) wwpw wt ‘TR g dE wew wfRar @
W T e

(®) ‘Fen ok @ T T F @ A

(F) wedt awi W fre e ¥ Rg wds gwER
e ar?

(3) chawmm ‘S=@’ & YW FEF-UUE B AW A
g7

A9/312 ( Turn Over )



A9/312

(2)

-2, i dRm Iw A ; . 2x4=8

(®) #T 3 I meE e w1 wv-avi R
TER @ fem g7

(@ ‘T R e T e HogE G
0?7

(M W w=w a9 gon wem W W WE

i)

(@) Ash v Tmw wfyw § b wRAw W=
Ui hifdr| -

3. Prefufes # ¥ Bedi d ot % s AR
(%) I deeh Fe A aond we B

(@ ‘T TR T wn'—fifs sofid F smar
R T & dR-ARAE F qvi Al |
(M) ‘veafer afe w ¥ wem A wy w0 oFEn

=ed &7 |
(=) ‘ST 9@ T IR, S S At T,
& 379 7 1 T R e €17
sy wE Hif)

(3) ‘vae’ Hfaa & JUR W Hy i wilvard g
% e ARl

5x3=15

( Continued )

(3)

4. gaﬁameﬁt eraeht’ F YR | T H TgT H T
s

3rera .
‘Rerpe  dr’ wRar w1 ariw R
5. framfy % shem ofk wifte = ah=a AR
9 T .
Tl fe ‘e’ % o 1 i AR

6. TYET qrE iR

S g w1 F fawmh|

ITg 7 113 e 98 orew, Il sEa wnhty
T

1§ Fra¥ wor 7 g T §,

vraw forass wor 7 7 fage dive §,

T B 99 & Big 98 9 §,

R g § ras geifed of §1

%k %k

A9—4000/312

10

10

10
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3 (Sem-1) BEN MIL

2018

BENGALI

( Modern Indian Language )

Full Marks : 60

’I‘irﬁe : 3 hours

The figures in the margin indicate full marks
for the questions

> | ot st ey e -

()

(o)
S

(€)

()

()

A9/308

() Reren [ B Rt

yxq=9

‘SRR AR@E A aw

(s < ¥ )

‘o1 (IR PRI Sl I 17
“olIe”’ Iee IIX Y 41 MR ?
‘g e =t == e 1’

S’ e = @ |

‘e St R AR

SITR R e IRI
AT F?
‘“grer whiE 9F

k2]
T

Wﬁm

(FoE o M)

‘quEa P e IROm IE O W IR

TFRICR (T T IR ?

( Turn Over )



3| R Seg e :

9|

A9/308

et o Tew e (@@ e o) -

(2)

X 8=p

=) ‘o A6 e Bft 39 iR 4

o] F2 W FE2 ©F 17’
@ (T 7 ‘R’ ICe ITF QR AR ?
(F) =ReeR T ¢ I”E AN H B2
(57). *FrEm o I
“oAf g @I ey @R TR =i, T, 9=
AT AL—GTT AL—TCR
5Cel (olcR— e #ired 3R

(%) fRw g o1 &, T TS (HRE 2

——

T3 R Qe

exX90=5%¢

(F) T IR IR
“earE IR
IR, @ W-@[A, TWE 5
g =g 27’

(}) Btvomem weIR i TRRICH AR @
Rer SRae’ RO SRET weweet I
I

(o)  TepT T JICA

B I AWK I
Rg o aazy  f e Ty
Q@ g9 QR 1 T4 1”?

( Continued )

()

(¥)

81 (3)

(%)

',au )

(%)

Vi1 (F)

()

A9—5000/308

(3)

fzeef e e -

O COICR I SR Y0 *IE JoT O ST,

RN @A A @ FCR eI iR
| RS
iz mam s
e R EIR R, o i AR et
eree W =" 1”7

‘w8 RS’ IR@® SemeE = m
SR g6 1 |

‘ T
S8R v TN IR S[ermE TR
cwIce] IRl ScEs e |
1R’ TRl wgere Ry SR sicers=n ¢ |

T

8 oipfen ¥ o b Brong o Raet wie |
@ R ew Nfe IRy Towew
s 3 .
' YT
‘e TR A A FRem ciftRER

TR IFH IR AN WS 8 ISy wepRe
Feac 1”7 Tl (et Ko |

* Kk *

S0

S0

S0

S0

S0

S0

3 (Sem~1) BEN



3 (Sem-1) BOD MIL
2018

. BODO
( Modern Indian Language)

Full Marks : 60:
Time : 3 hours
The _ﬁgu.res in the margin indicate full marks
for the questions
Answer in Bodo
. TR digere WAe Sk e ari a5
1x7=7
(®) & P v’ TuEE SR et R
- urE ga&i?
(@ 4 fm E A TUEE afaw R
Ficciciicee i ‘
(M ‘e’ @i et e
(7) @R WE AR e W T R i
FIelt AR EETHT BIAEE? |
(3). ‘@ gd =’ TR wuRfiar @ke
(@) ‘Rwitt 9 wuEE @nf W EE A
&i?
(®) wemfitaisa Ay geaet a)?

A9/310 . ( Turn Over )



{42

2. TEEM digera gue {5 2x4=8

(%) ‘famma’ weummE @RE W, @ fadt ferl

(@) FHE%aT IE1 Wwnf @ e AR

(M) “enif wftEE e @R e’ s
R fmera, @R A ween gEEET?

(@) ‘FEn owmer e em et -fosnfst w
BRAEGE! fer

. IR Sy g afere sEfe-smEn Ayt
g for 5x3=15

(%) o €& Marf—
- Sif FER g A e MEFE;
a1 JEETEATE! HARAM ArEi—
A THE STEA! AA0ET |
(@) e, giam, frm se R
fom e wif=r €€ el AW AR

(M) = ggmfs fig-srg &',
A -EHSeTd §g-arel o,
Tafrmm e dEm aRf <E
Ygr-agl af<af o gml

(7)) wiftfimf af & o
fafa ghema Eq A,
A deEl TR T,
A ema-fawemE fawf fham)

A9/310 ( Continued )

A9—7000/310

(3)

(F) 33 wwi
3| FEfer @A d@r
@Iy foaresT geEmEi|

QA fomr 6 T @ o e are gemhilen o

| Prumiet o T R e e S

=l _ 1+9=10
LLE
‘S TEE @R e geiiten d9wE), oo
fafirera m s @Rl fafswn fo _ 10
. FrEmi’ wemt SEmten /e e axfee o
foamael s@a forl 2+8=10
Tar
T e’ wreamE @R et T g
R IEERICIEIPUCIREN 1+9=10

“Mf¥ ded wY@E Dramatic Monologuef

ARG €17 AIUREl @R A% @R gEeE| 10

LG
ity O’ @l Nt m Rl Qe et
SEa for| 10

* A
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3 (Sem-1) HIN L
2018
ELECTIVE HINDI
( Hindi Kavya-Dhara )

" Pull Marks : 60
Time : 3 hours -

The figures in the margin indicate full marks
for the questions

1. g aey # Iw @i : | 1x7=7

(%) ‘Fonfy gwed’ K o fw o § i 0l
??

(@) foerd a0 Fya Ffa =1 T w27

(M o ¥ 5w oo & fE B www F e
Terar &7

() YRAg ¥ IgER §« Al F qw § ww A7

(¥) “% dF N @ wwW, FH—RE W
I T R N o

(@) ‘o A o o b o A
(3) gt ¥ diwt et w1 FW T T 87

2. H&89 % I Rw ; 2x4=8

(*) m%m%mﬁ:ﬂ'ﬁa%mwmm
amn IR IuHT Ierewr ® R {7
A9/313 ( Turn Over )



(2)

(@) wFe fE gre @ER % @R d 9 IR @@
w1 EW A A7

(M) ‘Reaw T wE # il Fia g B wn
T & AR §?

(@) Nu g TR FH B w9 d @ @

3. ﬁﬁﬁ?ﬂau@%mé’rﬁm:

(%) fgrt $ uRp-wET | yHw STl

(@) e 3 gR g F e W ® WA
uiq & T &7 '

(M) ‘v ok 3Eh W@ wE FA F YR W
IHA F G w1 Ui AT

(@) “fa w0w Ha F wds H aeea |
Y ST : ,

(3) frmm 3 AR (@f w@ R 3R W7 ok
IW qifm

5x3=15

4. QIET AT IR : 10

(%) & @ =1 @ gom ufem §
AfF g3 A W
e Bt TR T
wga1 gt 98 W W
oS IC]
= R ge ufedt w1 o Wl

A9/313 ( Continued )

(3)

AT

@) 7<g @ fRswae, ureH T &,
gfera-aneh, ageRe B #i
g1 SSg T o, W o,
fufir! ol 1 s1ya T @l

5. (%) ‘g uft’ s sy w1 e we im0
It

(@) FvEe™ N ‘BT HE F NG wI Fal 9
st 27

6. (F) ‘Uoreft s & g A e i 10
srerET
(@) el F= fi APvaet w1 eanwew Hifvm)

* X X

A9—2000/313 3 (Sem-1) HIN L



3 (Sem-1) ENG L

2018

ELECTIVE ENGLISH

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks

for the questions

1. Answer any seven of the following as
directed : 1x7=7

(@)

(b)

(c)
(d)

(e)

A9/305

Roman de la Rose, Le is an example of a
fabliau / dream allegory.

( Choose the correct answer )

The pilgrims in The Canterbury Tales
were going to the shrine of

( Fill in the blank )
Name the author of The New Atlantis.

The Jew of Malta was written by
( Fill in the blank )

Who wrote the poem, The Sunne Rising?

" William Congreve is the author of the

tragedy, The Mourning Bride.
( Write True or False )

( Turn Over )



(g

M
i

0

2. Answer any four of the following questions :

(@

(b
(c)
(d)

(e)

(9)

A9/305

(2)

The Castle of Otranto by Horace Walpole
is an example of Gothic fiction /
Historical novel.

( Choose the correct answer )

To which age do writers like Alfred, Lord
Tennyson and Robert Browning belong?

In which play by Samuel Beckett does
the figure of Vladimir appear?

Name the author of The Shadow Lines.

2x4=8
Define ballad and give two examples.
What is Renaissance Humanism?

Name two plays written by John
Webster.

Name two periodicals with which
Addison and Steele were associated.

Name two novels written by George
Eliot. :

Write very briefly on Irish Nationalism in
W. B. Yeats’ poetry.

Name two post-War generation play-
wrights.

Name two novelists in English who can
be called post-colonial.

( Continued )

(3)

3. Write short notes on any three of the

following :

(@)
(b)
(©
(d)
(e)

0
(g)

h).

4. Answer any th}eé of the following :

(g

(b)

'A9/305

5x3=15
Confessio Amantis

Violence in Jacobean tragedy

Katherine Philips

Pamela by Samuel Richardson

The Historical ' Novel

with special
reference to Walter Scott :

The Auden Circle
Look Back In Anger
Popular Culture

10x3=30
Write a critical nofe on Chaucer’s
contribution to English poetry.

Or

Present an overview of ‘new learning’ of
the Renaissance.

Trace the growth of Elizabethan tragedy
from Marlowe to Webster.

Or

Discuss the salient features of the
Metaphysical School of Poetry.

( Turn Over )
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(c) Account for the growth of satire in the

eighteenth century with  special 20

reference to Pope. : 1 8

Or ) _

Write a note on Samuel Richardson and ELECTIVE ASSAMESE

Henry Fielding as novelists. . _
(d) What are the characteristics of Full Marks : 60

Romantic poe in English? Discuss . )

poetry gli Time : 3 hours

with  reference ' to  Wordsworth,
" Coleridge, Shelley and Keats.

Or

Critically assess the contribution of the
women writers to the English novel in

The figures in the margin indicate full marks
Jor the questions

the Victorian period. > Terfon: yxq=9
(e) - Evaluate the contribution of Arnold as a
social critic of the Victorian Age. (¥) ORI TS I @ TEoTS o5 9
Or

i () wREEE Mow e W R AR w

Discuss the characteristics of modern i 9

English fiction with special reference to
the novels of Woolf, Forster, Lawrence . , '
and Joyce. | (o) ‘ozm sRE’ FR I 2
(N Discuss the concept of identity in ' &1 R R '
post-colonial literature. (3) W R
Or .
(8) TF *RIHRT O/ T FA
Explain the phenomenon of globaliza- TR ?
tion. Discuss the ways in which it has |
influenced literature in the post-Modern o (5) oS I I PR S e = o
period. : .
PN (%) =R iR Rt cPmeh! BiPR o tzrm?
A9—4000/305 3 (Sem-1) ENG L \ : .
A9/307 .
: ! ( Turn Over)
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(3) -+ e
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A9/307 | ‘ ( Continued )

(3)
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fera Y
(AT

() R Rwe e S By R afdsls
==, SF S 4 |
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The figures in the margin indicate full marks
for the questions
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(R) W IR TR GRT IR IPCRCE o
FERRCH 2

TfRee 7 1S : IX8=b

) R AN T T AT
&5 5w IR s 7117

, FF Q- A 7
(x) Srgwes frer ¢ o Tm e |

(1) “F T IR (o FRAMAA |
= et fafer, g, R e’
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() “SEwe’ T FR 8 SEefE e Tewda ( General )
- eI 3o zeace o e e | | :
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(®) ‘SmawE IR CRNITW R WS Fed and Principles ) .
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The figures in the margin indicate full marks

1. Answer the following as directed

Jor the questions

v {')}“ .

Answer either in English or in Assamese

H1x7=7

wore AP o SR Sed o -

(a) “Preparation for complete l1v1ng is

A9—2000/309 3 (Sem-1) BEN L

'A9/321

educatlon» Who said thls? "

“offRepf Kiga- w w zﬁam 2’
et 1 SRS @ITRRE 2
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(f) Truth, beauty, and -goodness are

According to Mahatma Gandhi, “B;
() AC & y _— type of valuesro - v

education °I mean an_all-round

drawing out of the best in child and A (Fﬂl in the ‘blank )
man-body, mind and spirit”. | |
(Write True or False) i TT’ P W Eﬂﬁm m
TN |
_.,men%iwr, “BreR |l R TR |
" PReT R, ﬁwwﬁ&—ﬁw S (ﬁéﬁ"mw)
AiFE @i ﬂ"’l‘f@ M. )
AP R NE” | 9 ’ is a miniature soc1ety
(o7 @ wrem o) | (Fﬂlmthe blank)
R aF S L .
(c)* What is the full form of IGNOU? R
| (€| ésfiv[«r 1 )
IGNOU ’l"’ff ?W.%l ﬁsv ‘ S T
: 2. Write very short answer of the following
(d) Write one function of school. questions : 2x4=8
BN AN . . . ‘ W WPQ' : wm :;t, D . "\.-{"

o o ’ (a) Mention' two usabilities. of non-
(e) Mention .one characteristic of non- formal educa’aon
formal educatlon
‘ SereTeT ﬁ‘m ‘131 %wfﬁm Ty
ORI W ol taﬁil W | Al "k

A9/321 Ot
. A9/321. ( Continued ) ( Tum Quer)



(4) (5)

(b) Write two ' differences between : (b) Vocatlonal aim of education: : .’ f
subject-centred - curriculum and | TR SO
chﬂd-centnc cumculum | ﬁ’*ﬁi@ﬂﬁ‘iﬁ T
o ot B o | (c) Functional Literacy Programme

(c;) " Mention one dimension of education W IS 'W ‘3: ’
process. _ -

d . . I3 ’

ﬁmﬁmﬁqﬁwmﬁwwﬁl @ Fre‘-‘i discipline 5.

(d) Mention two utilities of value-

. onented educatlon o s e st
Answer any three from Quesnon"Nos 4 t039*°>
Wﬂﬁﬂ?@l%ﬂﬁ@%ﬁﬁl | | al e ,
| ‘ aﬁa\ﬂwsaﬁ-a@ﬁmﬁﬁmwm )
- | R - AWM. TET L W
. f . iy . [ A
3 }Z]r;;:n:hort notes on any thr'ee ° ;1: ;_15 4. What is the relauonshlp between
g education and socmty? Explain the
wg R m%ﬁmqﬁm ﬁm oy | functionis of educatlon towa.rds socmty -8
e SRR i R ST T46=10
(a) Educatlon and hteracy
S o ﬂwwwmmﬁ?waﬁ
WWW‘I PR i@ T 0
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(6) (7)

5. What is vocational aim of education? _ ‘
Discuss its merits and demnerits in the 9. What is value-based education? Discuss

present context. 4+3+3=10 the role of teacher in imparting value
education. © 5+5=10

S

fre I o7 2 I8 SR <iReafres

e B &7 ey fem amme e
R TR IE SFRYPTR o1 3 | SR S 4 |

6. What do you mean by formal education?
Explain the characteristics of formal *hk
education. 5+5=10

e e I & 3@ wrpRe Awe
MBI [ 4

7. Explain ‘the concept of correlation of
studies. .- Discuss . the- necessities of
correlatlon in the field of teaching. 5+5=10

Y] W T m 9| M
mmwﬁma«fmwu

8. Dlscuss the advantages and dlsadvantages
of reward and pumshment in education.
5+5=10

e «f¥ - i m el w
wwﬁmﬁmmwwu

A9/321 - ( Continued )
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The figures in the margin indicate ﬁ.lll marks
Jor the questions

1. W gy : o 1x7=7
(%) & @ W o= w8 = fakfsh—
9 F Haaa ae

(@) wwiiyaR e 59 S| T a7

(M ‘TgEE-TEw AR wRam R @ ar

() “aRm w=H P v g Wk wee
aReH @7 R

(3) ‘g s &' wR wRA FEAE P g7

(@) ‘sl o aﬁammﬁa%gq;?

(®) ‘mE F @A |

2. 914 W Rydy : | : 2x4=8

® . ‘@MW TET
TRt @) afifeR o 3 a1ty
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3. F i v s Rgey - 5x3=15
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A9/316 ( Continued )
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(3)
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